Probability Density Function 

Binomial with n = 35 and p = 0,3

 x  P( X = x )

 0    0,000004

 1    0,000057

 2    0,000414

 3    0,001952

 4    0,006692

 5    0,017780

 6    0,038101

 7    0,067648

 8    0,101472

 9    0,130464

10    0,145374

11    0,141598

12    0,121370

13    0,092028

14    0,061978

15    0,037187

16    0,019921

17    0,009542

18    0,004090

19    0,001568

20    0,000538

21    0,000165

22    0,000045

23    0,000011

24    0,000002

25    0,000000

Binomial with n = 18 and p = 0,5

 x  P( X = x )

 0    0,000004

 1    0,000069

 2    0,000584

 3    0,003113

 4    0,011673

 5    0,032684

 6    0,070816

 7    0,121399

 8    0,166924

 9    0,185471

10    0,166924

11    0,121399

12    0,070816

13    0,032684

14    0,011673

15    0,003113

16    0,000584

17    0,000069

18    0,000004

Binomial with n = 18 and p = 0,8

 x  P( X = x )

 4    0,000000

 5    0,000002

 6    0,000020

 7    0,000137

 8    0,000752

 9    0,003341

10    0,012028

11    0,034991

12    0,081645

13    0,150730

14    0,215328

15    0,229684

16    0,172263

17    0,081065

18    0,018014

Binomial with n = 20 and p = 0,8

 x  P( X = x )

 5    0,000000

 6    0,000002

 7    0,000013

 8    0,000087

 9    0,000462

10    0,002031

11    0,007387

12    0,022161

13    0,054550

14    0,109100

15    0,174560

16    0,218199

17    0,205364

18    0,136909

19    0,057646

20    0,011529

